2nde DM n°13 — Fonctions & Tableaux - Correction avril 2020
Ex1:[4pts]
Fonctionn® 1 ;
X -4 -2 2
, 2 .3
X -4
f (x,] 0 +
Fonction n°2 :
X -4 2
3 -
)
X -4 -3,5 2
flx) + 0 —
Fonction n°3 :
X -4 -1
3 -
f \ /
2
X -4 -3,5 2
flx) + 0 -
Fonction n°4 ;
X -4 -2 2
-1 . |
* 3
X -4 0,5
flx) - 0

Ex2: [10pts]
1) Inéquation :

(x+4)(1-2x)=0 onpose f(x)=(x+4)(1-2x)

x —® -4 0,5 +00
x+4 - 0 + +
1-2x + + 0 -
flx) — 0 o+ 0 -
Donc S=[—4,0,5]
2 —1 1
2) Inéquation : 1>O donc Lr=1)x+ )>0
x+2
_(x—=1)(x+1)
on pose f(x)= e
X —®© 2 -1 1 + 00
x—1 - - - 0 +
x+1 — - 0 + +
x+2 - 0 + + +
f1x] - I + 0 - 0 i
Donc S=]-2;—1[U]1,;+xo]
3) Inéquation : (2x—1)(x*+6x+9)<0 donc (2x—1)(x+3)’<0
onpose f(x)=(2x—1)(x+3)
X —0 -3 0,5 +00
2x—1 - - 0 +
(x+3)° + 0 + +
fx] — 0 — 0 +
Donc S=]—o;—3[U]-3,;0,5]
i -1) x(x—1)
4) Inéquation : ~—% < x(x=1) =
) Inéquation I 0 donc PRy onpose f(x) PR
x —® 0 1 2 +00
x - 0 + + +
x—1 - - 0 + +
4—2x + + + 0 -
f[x] + 0 — 0 + I -

Donc S=[0,;1]U]2;+00|




5) Inéquation: (2x—1)(5—

x)>(2x
donc (2x—1)(5—x)—(2x )(3x+1)>
=0

donc (2x— 1;(5 x—3x— 1)
donc (2x—1)(—4x+4)>0
)

onpose f(x)=(2x—1)(—4x+4)

—1)(3x+1)

x —00 -5 —4 +00
I (
—E - 8
43
— P B
T —00 —1 +00
r—1 — — +
A —a + —
—z—1 ( — —
r—1)(4—:
EE— | N N
—z—1

X — 0,5 + 00
2x—1 - 0 +
—4x+4 + +
flx] — 0 +
Donc S§=[0,5,1]
Ex3:[6pts]
Tableau de signes
1
N — K e +o0
2
] — +
2z + 1 =
(1—2)(22+1) =
2. |z —00 2 +00
r — 3 — — 4=
20 + 4 o ( - -
(x—3)(—2x+4) - + —




